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Linearized knot diagam

O = R
f

/ Solving Sequence

410»5»11a9a12a668ﬁ16763ﬁ2»01,cﬁ
Cilp €9 €11 €5 Cg Ci2 Cr C3 C2

A knot dlagranﬂ
Ideals for irreducible component#ﬂ)f Xpar

It = (u”® —u™ + -+ 2u+1)

* 1 irreducible components of dim¢ = 0, with total 95 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u%® —u%+...+2u+1)

(i) Arc colorings

Qe

as

u5+u
uw +ud+2ud+u

—u'? — 1% — 308 — 248 — 2t —u? 41
u? 4+ 2010 + 4B + 4ub + 3ut + 202

ai
u?® 4 20
ar = \¢3 4549+ 4120 +u
b0 98 2 41
az = \ —y%2 — 10659 + ... — 2448 — 2
uBl +13uBt -+ 202+ 1
az —uB — 14ud* + - + 6ut — u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? — 4u%? + ... — 12u — 10

)

—ul7T — 2415 — 513 — Gutt — Twd — 60’ — 4u® — 2ud —u
—u'® — 317 — 8ut® — 13u!3 — 17wt — 17w — 1207 — 6u® —uwd + u

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u® 4+ 43u% - 8u? — 1

C2,Cg u® — e —2u+1
s uP 4+t 4+ Mdu 1

C4, C10 u® — w4 4 2ut1
Cs u® —u? 4+ —92u 4 137

C7,C12 u?® —5u® o —32u+1
Cs u® +5ut 4 - -+ + 2940 + 133

Cg, C11 u?® =31 + -+ 48u3 + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Y + 19y + -+ 16y — 1

2, Ce Y+ 43y o+ 8y - 1
€3 y?® — 5yt 4128y — 1

c4, C10 y? 431y - 48P — 1
Cs Y% — 9y™ 4 ... + 896772y — 18769

7, C12 Yy + 71y 4 — 160y — 1
Cs y?® + 11y + - — 932876y — 17689

cy, C11 y? 467y 4 2407 — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.025374 + 0.9963651

3.39359 + 2.058557

—0.025374 — 0.9963651

3.39359 — 2.058551

0.688552 + 0.7106031

—1.61555 + 2.050101

0.688552 — 0.7106031

—1.61555 — 2.050101

0.162735 + 0.9620831

—0.62221 — 5.793341

0.162735 — 0.9620831

—0.62221 + 5.793341

0.783327 + 0.6616501

0.46053 — 2.057901

0.783327 — 0.6616501

0.46053 + 2.057901

—0.792414 + 0.6667301

1.90721 — 3.049561

—0.792414 — 0.6667301

1.90721 + 3.04956.1

—0.664879 4 0.7977721

—0.75904 + 2.066071

—0.664879 — 0.7977721

—0.75904 — 2.066071

—0.116057 4+ 0.9438911

1.78252 4 1.861351

= —0.116057 — 0.9438911

1.78252 — 1.861351

—0.121403 + 1.0420301

2.49177 4 3.698091

—0.121403 — 1.0420301

2.49177 — 3.698091

—0.807377 + 0.6744031

1.23776 — 5.808631

—0.807377 — 0.6744031

1.23776 + 5.808631

0.801126 + 0.6865551

—3.76784 + 3.665751

0.801126 — 0.6865551

—3.76784 — 3.665751

0.812471 + 0.6762891

—0.79180 + 11.002101

0.812471 — 0.6762891

—0.79180 — 11.002101

—0.092609 + 1.059680.1

6.51481 — 2.3281471

= —0.092609 — 1.0596801

6.51481 + 2.328141

0.102345 + 1.0594201

8.05978 — 2.833121

0.102345 — 1.0594201

8.05978 4 2.833121

0.121178 + 1.0610001

7.57589 — 5.672161

0.121178 — 1.0610001

7.57589 4 5.672161

0.777967 + 0.7338651

—4.07255 + 1.062451

S| || |e|e ||| (e g |g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge =

0.777967 — 0.7338651

—4.07255 — 1.062451
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Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = —0.127841 + 1.0627001 5.61435 4 10.882801 0
u = —0.127841 — 1.0627001 5.61435 — 10.882801 0
u = —0.548579 4 0.9291397 0.16534 4+ 2.057301 0
u = —0.548579 — 0.9291391 0.16534 — 2.057301 0
u = —0.795141 4 0.7309231 —6.83927 — 5.005161 0
u = —0.795141 — 0.7309231 —6.83927 + 5.005161 0
u = —0.512610 + 0.9591957 3.41295 — 4.756741 0
u = —0.512610 — 0.9591957 3.41295 4 4.756741 0
u = —0.786842 + 0.7525017 —7.21645 4 2.391671 0
u = —0.786842 — 0.7525011 —7.21645 — 2.391671 0
u = 0.525009 + 0.9604901 5.26653 — 0.421581 0
U 0.525009 — 0.9604901 5.26653 4 0.421581 0
u= 0.763637 4 0.7968781 —5.64412 — 1.439671 0
u= 0.763637 — 0.7968781 —5.64412 4 1.439671 0
u = 0.179757 4 0.8694681 —1.18916 4 1.087201 | —4.00000 4 0.1
u= 0.179757 — 0.8694681 —1.18916 — 1.087201 | —4.00000 + 0.1
uw= 0.551131 + 0.9696891 5.46527 — 3.234111 0
uw = 0.551131 — 0.9696891 5.46527 4 3.234111 0
u = —0.753152 + 0.8269741 —1.33209 + 3.626951 0
u = —0.753152 — 0.8269741 —1.33209 — 3.626951 0
u = —0.561092 4 0.9752631 3.78528 + 8.402441 0
u = —0.561092 — 0.9752631 3.78528 — 8.402441 0
u = 0.767643 4 0.8268681 —3.35404 — 8.526611 0
u= 0.767643 — 0.8268681 —3.35404 4+ 8.526611 0
u = —0.722926 + 0.8980557 —1.10687 + 1.975361 0
u = —0.722926 — 0.8980551 —1.10687 — 1.975361 0
u = —0.662004 + 0.9445591 —0.26646 + 3.079791 0
u = —0.662004 — 0.9445591 —0.26646 — 3.079791 0
u = 0.740558 + 0.9053961 —3.10874 + 2.828191 0
u = 0.740558 — 0.9053961 —3.10874 — 2.828191 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.727240 + 0.9322931 —5.22662 — 4.207811 0
u= 0.727240 — 0.9322931 —5.22662 + 4.207811 0
uw=0.676581 + 0.9729991 —0.82645 — 7.346351 0
uw= 0.676581 — 0.9729991 —0.82645 4 7.346351 0
u = —0.729754 4+ 0.9701631 —6.55061 4+ 3.331901 0
u = —0.729754 — 0.9701631 —6.55061 — 3.331901 0
u=0.719199 + 0.9790271 —3.32556 — 6.727561 0
u= 0.719199 — 0.9790271 —3.32556 4 6.727561 0
u = —0.727823 + 0.9855671 —6.06270 + 10.745901 0
u = —0.727823 — 0.9855671 —6.06270 — 10.745901 0
u= 0.701087 + 1.0142301 1.51800 — 3.557131 0
u= 0.701087 — 1.0142301 1.51800 + 3.557131 0
u = —0.706030 + 1.0153601 2.95696 + 8.706261 0
u = —0.706030 — 1.0153601 2.95696 — 8.706261 0
uw=0.715903 + 1.0102301 —2.78685 — 9.381761 0
u= 0.715903 — 1.0102301 —2.78685 4 9.381761 0
u = —0.714560 + 1.0174601 2.27642 4 11.535501 0
u = —0.714560 — 1.0174601 2.27642 — 11.535501 0
u= 0.717327 + 1.0184801 0.2459 — 16.75241 0
u= 0.717327 — 1.0184801 0.2459 + 16.75241 0
u = —0.584226 + 0.3179731 2.20807 — 4.1399171 | —4.07308 + 2.379911
u = —0.584226 — 0.3179731 2.20807 4 4.139911 | —4.07308 — 2.379911
u = —0.619100 + 0.2230891 1.50088 + 8.687051 | —5.76786 — 7.670021
u = —0.619100 — 0.2230891 1.50088 — 8.687051 | —5.76786 + 7.670021
u= 0.586261 + 0.2875741 3.82783 — 0.922851 | —1.55964 + 2.823661
u= 0.586261 — 0.2875741 3.82783 4+ 0.92285] | —1.55964 — 2.823661
u= 0.607360 + 0.2371301 3.44405 — 3.554671 | —2.57489 + 3.345341

= 0.607360 — 0.2371301

e
|

3.44405 + 3.554671

—2.57489 — 3.345341

u = —0.561156 + 0.2014911

—1.41921 + 1.667961

—9.52383 — 3.174921

u = —0.561156 — 0.2014911

—1.41921 — 1.667961

—9.52383 + 3.174921




Solutions to I}

V=1 (vol + /=1CS)

Cusp shape

0.546096 + 0.0416501

—3.71966 — 3.519431

—12.44692 +- 4.798471

0.546096 — 0.0416501

—3.71966 + 3.519431

—12.44692 — 4.798471

—0.307196 + 0.4160821

—0.50840 + 1.397191

—4.77257 — 4.637431

—0.307196 — 0.4160821

—0.50840 — 1.397191

—4.77257 4 4.637431

u
u
u =
u
u

= —0.468689

—1.06413

—9.37220




II. u-Polynomials

Crossings u-Polynomials at each crossing

1 u®® + 430t + -+ 8u? — 1

€2, C6 u®® — w4 - 2u 1
c3 u® 4 4 1du+ 1

C4, C10 u®® —u? 4 2u+ 1
Cs u® —u® 4 — 920 + 137

C7,C12 u® —5u 4 32041
Cs u?® 4+ 5u + -+ 4 2940 + 133

Cg, C11 u® =31+ 48Ut + 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 ¥ + 199" + -+ 16y — 1

€2, Cg Y 43y 48t -1
€ y* =5y - 4128y — 1

€4, C10 y?? +31y™ + -+ 48y° — 1
Cs Y% — 9% 4 ... £ 896772y — 18769

7, C19 Y+ Ty o — 160y — 1
Cs y?® + 11y%* + - — 932876y — 17689

Co, C11 Y% 467y 42407 — 1
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